
 

 

Funny Car: TQi radio system (6907) Parts List 
 
Parts shown in bold are optional accessories. Part categories and individual part listings are arranged alphabetically. Prices are shown in US Dollars. 
 

For assistance call 1-888-TRAXXAS, or e-mail Traxxas anytime at support@Traxxas.com                                              REV. 120301 1048 

 Bearings & Bushings  
4607 Ball bearings  (5x11x4mm) (8) ........................................................  $24.00 
4612 Ball bearings (10x15x4mm) (2) .......................................................  $8.00 
5119 Ball bearings, blue rubber sealed (10x15x4mm) (2) ..........................  $7.00 
5116 Ball bearings, blue rubber sealed (5x11x4mm) (2) ............................  $3.50 
5117 Ball bearings, blue rubber sealed (6x12x4mm) (2) ............................  $4.00 

 Body & Accessories  
1926 Antenna caps, vinyl (2)/ antenna spool ..............................................  $2.00 
1726 Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1) .................  $1.00 
6936 Body bumper, foam ............................................................................  $4.00 
6915 Body mounts, front (latch)/ 3x15mm BCS (2) ....................................  $6.00 
6911 Body, Ford Mustang (clear, requires painting)/ decals ................  Call 
6911X Body, Ford Mustang, Courtney Force (painted, decals 

applied) .............................................................................................  Call 
6912 Body, Ford Mustang, John Force (painted, decals applied) ........  Call 
6913 Body, Ford Mustang, Mike Neff (painted, decals applied) ...........  Call 
6914 Body, Ford Mustang, Robert Hight (painted, decals applied) .....  Call 
2535 Screws, 4x10mm countersunk machine (hex drive) (6) .....................  $2.50 
6916 Wing ...................................................................................................  $12.00 
6917 Wing mount  .......................................................................................  $6.00 

 Chassis & Attachments  
6427 Battery hold-down retainer (2) ...........................................................  $3.00 
6427X Battery hold-down retainer, tall (2)  (allows for installation of 

taller, multi-cell batteries) ...............................................................  $3.00 
6936 Body bumper, foam ............................................................................  $4.00 
6915 Body mounts, front (latch)/ 3x15mm BCS (2) ....................................  $6.00 
6924 Box, receiver/ cover ...........................................................................  $8.00 
6935 Bumper, front (black chrome) (left & right) .........................................  $7.50 
6922 Chassis (black chrome) .....................................................................  $35.00 
6921 Chassis braces (front and rear)/ servo mount ....................................  $5.00 
6927 Hold down, battery .............................................................................  $3.00 
6920 Link mount, rear suspension (right & left) ..........................................  $4.00 
6997 Links, rear sway bar (2) (assembled with rod ends & hollow balls) ...  Call 
6919 Shock mount, lower (1)/ wire retainer (1) ...........................................  $3.00 
6923 Tie bar, front, aluminum (titanium-anodized)  ....................................  Call 
6978 Wheelie bar ........................................................................................  $14.00 
6977 Wheels (2)/ axle (1) (for wheelie bar, #6978) .....................................  $3.00 

 Differential Components  
5119 Ball bearings, blue rubber sealed (10x15x4mm) (2) ..........................  $7.00 
5117 Ball bearings, blue rubber sealed (6x12x4mm) (2) ............................  $4.00 
6982 Gear set, differential (output gears (2)/ spider gears (2)/ spider 

gear shaft)/ output gear seals (x-ring) (2)/ diff gasket (1)/ 
hardware ............................................................................................  $12.00 

6980 Housings, differential/ 2.5x23mm CS (4)/ 6x8x2.5mm PB (1) ...........  $7.00 
5039 Oil, differential (500K weight) .............................................................  $8.00 

 Driveline Components  
6945 Axle shaft, rear, steel/ e-clips (4) .......................................................  $5.00 
5119 Ball bearings, blue rubber sealed (10x15x4mm) (2) ..........................  $7.00 
5117 Ball bearings, blue rubber sealed (6x12x4mm) (2) ............................  $4.00 
6991 Gearbox housing, rear/ pinion access cover ......................................  $10.00 

 Front Suspension & Steering  
5116 Ball bearings, blue rubber sealed (5x11x4mm) (2) ............................  $3.50 
6930 Bulkhead, front ...................................................................................  $5.00 
6944 Servo saver ........................................................................................  $3.00 
2080 Servo, micro, waterproof ....................................................................  $29.00 
6937 Steering blocks (left & right) ...............................................................  $4.00 
6931 Suspension arms, front (2 lower, 2 upper, assembled with ball 

joints) .................................................................................................  $10.00 
6923 Tie bar, front, aluminum (titanium-anodized)  ....................................  Call 
6938 Turnbuckles, toe links, 44mm (58mm center to 

center) (front) (assembled with rod ends and hollow balls) (2) ..........  Call 
5537 Wheel spindles, front (left & right) (2) ................................................  $8.00 
5537X Wheel spindles, front, 7075-T6 aluminum, blue-anodized (left 

& right) ..............................................................................................  $11.00 

 Hardware  
5119 Ball bearings, blue rubber sealed (10x15x4mm) (2) ..........................  $7.00 
5116 Ball bearings, blue rubber sealed (5x11x4mm) (2) ............................  $3.50 
5117 Ball bearings, blue rubber sealed (6x12x4mm) (2) ............................  $4.00 
2585 Cylinder head bolts, marine 3x20mm CS (6) (TRX 2.5) ....................  $2.50 
5150 E-clips, 1.5mm (24) ............................................................................  $1.50 
2586 Head screws, 3x15mm cap-head machine (hex drive) (6) (TRX 

2.5) .....................................................................................................  $2.50 

2556 Header screws, 3x23mm cap hex screws (6) ....................................  $2.50 
3647 Nuts, 4mm flanged nylon locking (steel, serrated) (8)  ................  $3.25 
1747 Nuts, 4mm nylon locking (10) .........................................................  $2.00 
1747R Nuts, aluminum, flanged, serrated (4mm) (blue-anodized) (4) ....  $7.50 
4955 Pins, axle (2.5x12mm) (4) ..................................................................  $1.00 
4933 Pivot balls (4)/ pivot ball cap bushings (4) .........................................  $6.00 
7155 Rocker arm post, steel (4) .................................................................  $3.00 
5347 Rod ends, Revo (large) with hollow balls (12) ...................................  $9.00 
5349 Rod ends, small, with hollow balls (6) (for Revo steering linkage) ....  $4.00 
3229 Screws, 2.5x10mm cap-head machine (hex drive) (6) ......................  $2.50 
3965 Screws, 2.5x8mm cap-head machine (6) ..........................................  $2.50 
2577 Screws, 3x10mm button-head machine (hex drive) (6) .....................  $2.50 
2587 Screws, 3x10mm cap-head machine (6) (no washer) .......................  $2.50 
2551 Screws, 3x10mm countersunk machine (6) (hex drive) ....................  $2.50 
2552 Screws, 3x12mm countersunk machine (6) (hex drive) ....................  $2.50 
2579 Screws, 3x15mm button-head machine (hex drive) (6) .....................  $2.50 
2553 Screws, 3x15mm countersunk machine (6) (hex drive) ....................  $2.50 
3646 Screws, 3x15mm flat-head machine (hex drive) (6) ..........................  $2.50 
2583 Screws, 3x18mm button-head machine (hex drive) (6) .....................  $2.50 
2580 Screws, 3x20mm button-head machine (hex drive) (6) .....................  $2.50 
2582 Screws, 3x30mm button-head machine (hex drive) (6) .....................  $2.50 
2554 Screws, 3x6mm cap-head machine (hex drive) (6) ...........................  $2.50 
2550 Screws, 3x8mm countersunk machine (6) (hex drive) ......................  $2.50 
3931 Screws, 3x8mm flat-head machine (hex drive) (6) ............................  $2.50 
2535 Screws, 4x10mm countersunk machine (hex drive) (6) ....................  $2.50 
3642X Shoulder screws, Ultra Shocks (3x12 hex drive) (6) ..........................  $3.00 
2739 Suspension pin set, stainless steel (w/ E-clips) .................................  $9.00 
4954 Wheel hubs, hex (2)/ axle pins (2.5x12mm) (2) .................................  $2.50 
1654 Wheel hubs, hex (2)/ stub axle pins (2) .............................................  $2.00 

 Manuals  
6999 Owners manual, Eliminator ................................................................  Call 

 Motor & Electronics  
1726 Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1) ................  $1.00 
2081 Servo case/ gaskets (for 2080 micro waterproof servo) ....................  $6.00 
2080 Servo, micro, waterproof ....................................................................  $29.00 
3080 Traxxas Connector (female) (2) ......................................................  $4.75 
3070 Traxxas Connector (male) (2) .........................................................  $3.75 
3060 Traxxas Connector (male/female) (1)  ............................................  $4.25 

 Radio Systems, Batteries & Chargers  
2854 10000mah 7.4v 2-Cell 25C LiPO Battery ........................................  $179.99 
2849 4000mah 11.1v 3-Cell 25C LiPO Battery ........................................  $99.99 
2841 4000mah 7.4v 2-Cell 25C LiPO Battery ..........................................  $69.99 
2843 5800mah 7.4v 2-Cell 25C LiPO Battery ..........................................  $99.99 
2857 6400mah 11.1v 3-Cell 25C LiPO Battery ........................................  $159.99 
2935 Charger, 2-3 cell LiPO Balance .......................................................  $29.99 
2930 Charger, EZ-Peak AC/DC, 4 amp ....................................................  $47.99 
2933 Charger, EZ-Peak Plus, 6amp, LiPo, NiMH fast charger ..............  $149.99 
2932 Charger, EZ-Peak, 2-amp, 6V-9.6V,5-8 cell NiMH fast charger ....  $32.99 
6510 Docking base, TQi 2.4 GHz transmitter (iPod/iPhone) .................  $70.00 
6518 Receiver, micro, TQi 2.4GHz with telemetry (5-channel) ..................  $50.00 
6508 TQi 2.4 GHz High Output radio system, 4-channel (4-ch. 

transmitter & 5-ch. receiver) ..............................................................  $150.00 
6515 Transmitter, TQi 2.4GHz high output, 4-channel (transmitter only) ...  $115.00 

 Ready-to-Race Model  
6907 Eliminator: 1/8-Scale Funny Car Dragster with TQi 2.4GHz radio 

system ...............................................................................................  Call 

 Rear Suspension  
6920 Link mount, rear suspension (right & left) ..........................................  $4.00 
6997 Links, rear sway bar (2) (assembled with rod ends & hollow balls) ...  Call 
6918 Mounts, rear suspension (upper & lower) ..........................................  $5.00 
4933 Pivot balls (4)/ pivot ball cap bushings (4) .........................................  $6.00 
5347 Rod ends, Revo (large) with hollow balls (12) ...................................  $9.00 
5349 Rod ends, small, with hollow balls (6) (for Revo steering linkage) ....  $4.00 
6998 Sway bar, black (rear) ........................................................................  Call 
6939 Turnbuckles, suspension, 39mm (60mm center to 

center) (rear) (assembled with rod ends and hollow balls) (2) ..........  Call 

 Shocks (GTR)  
7066X Body, GTR shock (hard-anodized, Teflon-coated 

aluminum) (1) ...................................................................................  $7.00 
7066 Body, GTR shock (molded composite) (2) .........................................  $3.00 
6962 Caps & spring retainers, GTR shocks (upper cap (2), upper 

retainer (2), lower retainer (2)) ...........................................................  $3.00 



Page 2 Funny Car: TQi 2.4GHz radio system (Model 6907) Parts List 

REV. 120301 1048 

7065 Caps and spring retainers, GTR shock (upper cap (2)/ hollow 
balls (4)/ bottom cap (2)/ upper retainer (2)/ lower retainer (2)) .........  $3.50 

7028 Hollow balls (20) ................................................................................  $4.00 
7028X Hollow balls, steel (machined) ........................................................  $8.00 
7062 Rebuild kit, GTR composite shocks (x-rings, bladders, pistons, e-

clips, shock rod ends, hollow balls) (renews 2 shocks) .....................  $5.00 
7063 Shaft, GTR shock (2) .........................................................................  $4.00 
7063T Shaft, GTR shock (TiN-coated) (4) ..................................................  $15.00 
6961 Shaft, GTR shock, steel (2)  ...............................................................  $4.00 
6961T Shaft, GTR shock, TiN-coated (2) ...................................................  $7.50 
6919 Shock mount, lower (1)/ wire retainer (1) ...........................................  $3.00 
6960 Shocks, GTR composite (assembled, without springs) (2) ................  Call 
7061 Shocks, GTR composite (assembled, without springs) (2) ................  $16.00 
7061X Shocks, GTR hard anodized, Teflon-coated bodies with TiN 

shafts (fully assembled, without springs) (4) ................................  $55.00 

 Springs  
7140 Spring, shock (GTR) (0.82 rate, double orange) (1 pair) ...................  $4.00 
6959 Spring, shock (GTR) (0.82 rate, triple orange) (1 pair) ......................  Call 
7141 Spring, shock (GTR) (0.88 rate, double green) (1 pair) .................  $4.00 
7142 Spring, shock (GTR) (0.94 rate, double tan) (1 pair) .....................  $4.00 

 Spur Gears & Pinion Gears  
3944 Gear, 14-T pinion (32-p) (mach. steel)/ set screw .............................  $3.25 
3959 Spur gear, 62-tooth (0.8 metric pitch, compatible with 32-

pitch) .................................................................................................  $3.00 
3960 Spur gear, 65-tooth (0.8 metric pitch, compatible with 32-

pitch) .................................................................................................  $3.00 
3961 Spur gear, 68-tooth (0.8 metric pitch, compatible with 32-pitch) ........  $3.00 

 Steering Components  
6944 Servo saver ........................................................................................  $3.00 
6937 Steering blocks (left & right) ...............................................................  $4.00 
6938 Turnbuckles, toe links, 44mm (58mm center to 

center) (front) (assembled with rod ends and hollow balls) (2) ..........  Call 

 Suspension Linkage  
5347 Rod ends, Revo (large) with hollow balls (12) ...................................  $9.00 
6944 Servo saver ........................................................................................  $3.00 
6939 Turnbuckles, suspension, 39mm (60mm center to 

center) (rear) (assembled with rod ends and hollow balls) (2) ...........  Call 
6938 Turnbuckles, toe links, 44mm (58mm center to 

center) (front) (assembled with rod ends and hollow balls) (2) ..........  Call 

 Tires & Wheels  
5116 Ball bearings, blue rubber sealed (5x11x4mm) (2) ............................  $3.50 
3647 Nuts, 4mm flanged nylon locking (steel, serrated) (8)  ................  $3.25 
1747 Nuts, 4mm nylon locking (10) ............................................................  $2.00 
1747R Nuts, aluminum, flanged, serrated (4mm) (blue-anodized) (4) ....  $7.50 
4955 Pins, axle (2.5x12mm) (4) ..................................................................  $1.00 
6975 Tires & wheels, assembled, glued (5-spoke chrome wheels, tires, 

foam inserts) (front) (2)  .....................................................................  $18.00 
6973 Tires & wheels, assembled, glued (chrome wheels, slick tires (S1 

compound), foam inserts) (rear) (2) ...................................................  Call 
6971 Tires, front/ foam inserts (2) ...............................................................  $10.00 
6470 Tires, slicks (S1 compound) (rear) (2)/ foam inserts (2) ....................  $42.00 
4954 Wheel hubs, hex (2)/ axle pins (2.5x12mm) (2) .................................  $2.50 
6974 Wheels, 5-spoke (chrome) (front) (2)  ................................................  $7.00 
6972 Wheels, rear (chrome) (2)  .................................................................  Call 

 Traxxas Team Items  
2514 Decal sheet, racing sponsors .........................................................  $3.00 
6160X DVD, Maxx Power! Full Throttle Action (sleeve) ...........................  $12.99 
9950 Official Team Traxxas racing decal set (flag logo/ 6-color) .........  $4.50 
9909 Traxxas racing banner, red & black (3x7 feet) ..............................  $15.00 

 Turnbuckles & Threaded Rods  
6997 Links, rear sway bar (2) (assembled with rod ends & hollow balls) ...  Call 
6939 Turnbuckles, suspension, 39mm (60mm center to 

center) (rear) (assembled with rod ends and hollow balls) (2) ...........  Call 
6938 Turnbuckles, toe links, 44mm (58mm center to 

center) (front) (assembled with rod ends and hollow balls) (2) ..........  Call 

   
   

If you have questions or need technical assistance, call Traxxas at: 

1-888-TRAXXAS 
(1-888-872-9927) (U.S. residents only) 

 

For orders, calls outside the U.S., and other information, call 972-265-8000, or fax to 972-265-8011 
e-mail Traxxas at support@Traxxas.com 

TRAXXAS.com  


